BID RESULTS

CK09MERCER2014-11 TWO (2) WANCO MODEL WVTM-5C OR EQUIVALENT FIVE COLOR MATRIX MESSAGE SIGNS FOR THE MERCER COUNTY PARK COMMISSION AND COOPERATIVE PURCHASING SYSTEM

July 29, 2014

AWARD ONE YEAR, WILL EXTEND TO CO-OP, DELIVERY WITHIN 60 DAYS FROM RECEIPT OF PO	
NO. OF BIDDERS	1
NAME OF BIDDER	HERTZ EQUIPMENT RENTAL CORPORATION
ADDRESS	49 WEST FERRIS STREET
CITY, STATE, ZIP	EAST BRUNSWICK, NJ 07114
CONTACT	JASON OOSTERBEEK
TELEPHONE	732.432.7210
FAX	866.888.2210
E-MAIL	hercbids@hertz.com
EXTEND TO CO-OP AND HOLD PRICING ONE YEAR	YES
PROVIDE TRAINING	YES
INSURANCE REQUIRED FROM VENDOR	REQUIRED IF AWARDED
NEW JERSEY BUSINESS REGISTRATION	OK
STOCKHOLDER DISCLOSURE CERTIFICATION	STOCKHOLDER DISCLOSURE OK
EXECUTIVE ORDER 98-1	SIGNED AND DATED
EXHIBIT A	OK
EMPLOYEE INFORMATION CERTIFICATE	REQUIRED IF AWARDED
IRAN CERTIFICATION	SIGNED AND DATED
CONTINUITY OF OPERATIONS DURING EMERGENCY	YES
HOLD PRICING BEYOND 60 DAYS	YES
MANUFACTURER'S CUT OFF DATE	N/A
exceptions	NONE
FATAL FLAW	NO
MANUFACTURER	WANCO
MODEL	WVTM-5C
YEAR	2014
DELIVERY	60 DAYS
UNIT COST	\$23,799.00
TOTAL COST FOR TWO	\$47,598.00

BID RESULTS AB2014-34 REMOVAL AND INSTALLAITON OF ROOF-TOP EXHAUST FANS AT SOUTH VILLAGE July 29, 2014 COMPLETION 30 DAYS FROM THE FIVE DAY NOTICE TO PROCEED. LIQUIDATED DAMAGES \$250.00 PER CALENDAR ADDENDUM NO. ONE INCREASED UNITS FROM 135 DAY: LEAD TIME REQUIRED FOR CONTRACTOR TO PURCHASE TO 140 UNITS; INCLUDE ADDENDUM NO. ONE IN CONTRACT NO. OF RESPONDENTS: NAME OF BIDDER PJM MECHANICAL CONTRACTORS, INC THOMAS COMPANY, INC. AIR CONTROL TECHNOLOGY, INC. GABE SGANGA INC ADDRESS 1688 FIFTH STREET 6587 DELILAH ROAD 998 TAUNTON AVENUE 90 MAIN STREET CITY, STATE, ZIP EGG HARBOR TWP., NJ 08234 WEST BERLIN, N J 08091 FARMINGDALE, NJ 07727 EWING, NJ 08638 CONTACT PATRICIK J. MONSER GEORGE J. THOMAS ANTHONY N. PICCONE GABRIELE SGANGA, PRES TELEPHONE 609.921.1394 609.383.1400 856.768.7300 732.751.2828 FAX 609.771.4474 609.383.3444 856.768.7878 732.751.2882 -MAIL pmosner@pimmechanical.com athomas@thomascoinc.com Acthvac@aol.com gabes@gabesgangainc.com DERARRED NO NO NO NO INDEMNIFICATION INSURANCE REQUIRED FROM AWARDED SIGNED AND INS CERT REQUIRED IF AWARDED VENDOR PERFORMANCE BOND AND I &M REQUIRED IF AWARDED REQUIRED IF AWARDED REQUIRED IF AWARDED REQUIRED IF AWARDED FIDELITY AND DEPOSIT COMPANY OF MARYLAND 10% BID GUARANTEE THE OHIO CASUALTY INSURANCE COMPANY 10% LIBERTY MUTURAL INSURANCE COMPANY 10% NTE 20K THE OHIO CASUALTY INSURANCE CO 10% NTE 20K NTE 20K CARMEN J CAVALIERE ATTORNEY IN FACT CHRISTINE A. DUNN ATTORNEY IN FACT CECELIA D. BROWN ATTORNEY IN FACT LISA F. MCILVAINE ATTORNEY IN FACT CONSENT OF SURETY ADDENDUM NO. ONE SIGNED SIGNED SIGNED SIGNED THREE REFERENCES INCLUDED INCLUDED INCLUDED INCLUDED S YEARS EXPERIENCE SIMILAR SCOPE OF WORK 2 INCLUDED INCLUDED INCLUDED PW CONTRACTOR REGISTRATION PJM CERT #604648 EXPIRES 5/2/16 CERT#603706 EXPIRES 4.11.15 CERT#67938 EXPIRES 3.10.16 CERT#603508 EXPIRES 3.31.16 PW CONTRACTOR REGISTRATION SUB-PRIME ELECTRICAL & CERT #59900 EXPIRES 4/30/16 FOR ELECTRICAL CERT#693859 EXPIRED 2.24.15 S. HUGHES ELECTRIC CERT#683291 EXPIRES 7.18.15 TZ ELECTRICAL CERT#683291 EXPIRES 7.18.15 TZ ELECTRICAL BRYAN ELECTRIC NEW JERSEY BUSINESS REGISTRATION NEW JERSEY BUSINESS REGISTRATION SUB-PRIME ELECTRICAL OK OK OK OK BRYAN ELECTRIC CO., INC. LIC#34EB0060022200 S.HUGHES ELECTRIC COMPANY LIC LIC#34EB0173920 TZ ELECTRICAL CONTRACTING, LIC LIC#34EB01176200 TZ ELECTRICAL CONTRACTING LIC LIC#34EB01176200 ELECTRICAL SUBCONTRACTOR EXPIRES 3.31.15 EXPIRES 3.31.15 EXPIRES 3.31.15 EXPIRES 3.31.15 HVAC SUBCONTRACTOR IN HOUSE IN HOUSE STOCKHOLDER DISCLOSURE OK OK OK OK CERTIFICATION OF AVAILABLE EQUPMENT SIGNED SIGNED SIGNED SIGNED SAFETY PLAN COMPLIANCE CERTIFICATION SIGNED SIGNED SIGNED SIGNED NON-COLLISION AFFIDAVIT SIGNED SIGNED SIGNED SIGNED EXECUTIVE ORDER 98-1 SIGNED SIGNED SIGNED SIGNED EXHIBIT B OK OK OK OK AA201 REQUIRED IF AWARDED REQUIRED IF AWARDED REQUIRED IF AWARDED REQUIRED IF AWARDED IRAN CERT SIGNED SIGNED SIGNED SIGNED PREVAILING WAGE CERT OK OK OK OK SAFETY CERT SIGNED SIGNED SIGNED SIGNED HOLD PRICING BEYOND 60 DAYS YES YES YES YES

NONE

NO

70.000.00

77,642.00

147.642.00

1,054.59

NONE

NO

165.225.00

123,000.00

288.225.00

2,058.75

NONE

NO

168.350.00

167,050.00

335.400.00

2,395.7

NONE NOTED

NO

108.600.00

31,000.00

139.600.00

997.14

EXCEPTIONS

FATAL FLAW

COST OF LABOR

COST OF MATERIAL AND EQUIPMENT 140 UNITS

AVERAGE COST PER UNIT MATERIALS/LABOR

TOTAL COST FOR 140 UNITS

NA DESILITE								
BIO RESULTS AB2014-30 ORNAMENTAL FENCING SYSTEM AT 1502 LAMBERTON ROAD, TRENTON, NJ								
July 30, 2014								
COMMENCE WITHIN TEN (10) CALENDAR DAYS AFTER RECEIPT OF WRITTEN NOTICE TO PROCEED AND SUBSTANTIALLY COMPLETED WITHIN TWENTY (20) CALENDAR DAYS FROM RECEIPT OF THE NOTICE TO PROCEED. LIQUIDATED DAMAGES IN THE AMOUNT OF \$200.00 PER CALENDAR DAY SHALL BE ASSESSED IF THE PROJECT IS NOT COMPLETED WITHIN THE STATED TIME OF COMPLETION.	BID BOND AND PERFORMANCE BOND NOT REQUIRED AS PROJECT IS LESS THAN \$100K							
NO. OF REPONDENTS:	8							
NAME OF BIDDER	PRO MAX FENCE SYSTEMS, INC	NATIONAL FENCE SYSTEMS	DESILVIO & CO.,INC.					
ADDRESS	2621 CENTRE AVENUE	1033 ROUTE ONE	1223 LINCOLN TERRACE	PO BOX 240 SO. CEDARBROOK ROAD				
CITY, STATE, ZIP	READING, PA 19605	AVENEL, NJ 07001	PEEKSKILL, NY 10566	CEDARBOOK, NJ 08018				
CONTACT	TODD A. WEAVER	ANTHONY MARTINEZ	BENNY KRASNIGI	PATRICIA A DE SILVIO				
TELEPHONE	610.685.4300	732.636.5600	914.737.8700	609.567.9200				
FAX	610.685.4430	732.636.5605	914.734.4807	609.567.9299				
E-MAIL	TODDW@PROMAXFENCE.COM	jmartinez@nationalfencesystems.com	sales@qualitybestfence.com	pat@desilvioandco.com				
ADDENDUM NUMBER ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED				
PUBLIC WORKS CONTRACTOR REGISTRATION	CERT#657482 EXPIRES 5.15.16	CERT#53798 EXPIRES 4.8.2015	CERT#681499 EXPIRES 3.15.15	CERT#36284 4.28.16				
INDEMNIFICATION INSURANCE REQUIRED FROM VENDOR	SIGNED, INSURANCE REQUIRED IF AWARDED	SIGNED, INSURANCE REQUIRED IF AWARDED	SIGNED, INCLUDED (NEED 30 DAY CANCELLATION)	INCLUDED				
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK				
STOCKHOLDER DISCLOSURE CERTIFICATION	OK	OK	OK	OK				
EXECUTIVE ORDER 98-1	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED				
EXHIBIT B	OK	OK	REQUIRED IF AWARDED	OK				
AA201	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED				
DEBARRED	NO	NO	NO					
IRAN CERTIFICATION	OK	OK	OK	OK				
SAFETY PROGRAM CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED				
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES				
3 REFERENCES FOR SIMILAR PROJECTS	ATTACHED	INCLUDED	INCLUDED	INCLUDED				
NON-COLLUSION AFFIDAVIT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED				
CERTIFICATION OF AVAILABLE EQUIPMENT	SIGNED AND DATED NOT NOTORIZED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED				
PREVAILING WAGE CERTIFICATION	OK	OK	OK	OK				
EXCEPTIONS	NONE	NONE	NONE	NONE				
FATAL FLAW	NO	NO	NO	NO				
FENCING SYSTEM	IRON WORLD MFG	INTREPID ORNAMENTAL STEEL	MERCHANTS METALS	MERCHANTS METALS				
COST PER LINERAR FOOT		98.0	99.7	109.				
GRAND TOTAL	47,800.0	49,000.0	49,890.00	51,664.00				
MAME OF BIDDED	ACCEPIT FENCE INC	NUNICA LLC	ADSOLUTE FEMOS SEDVICES INC	CARIEN FENCE CO. INC.				
NAME OF BIDDER	ACCENT FENCE INC.	NINSA LLC	ABSOLUTE FENCE SERVICES INC.	CARJEN FENCE CO.,INC				
ADDRESS	PO BOX 656, 1450 BREMEN AVENUE	125 LINCOLN STREET HAMMONTON, NJ 08037	535 RYERSON ROAD	1223 PARK STREET				
CITY, STATE, ZIP CONTACT	EGG HARBOR, NJ 08215 GREG CARNESALE	GREGORY FONDACARO, PRES.	LINCOLN PARK, NJ 07035 VIC EFTIMOSKI	PEEKSKILL, NY 10566 JOSEPH CALICCHIA, JR.				
TELEPHONE	609.965.6400	609.561.7103	973.332.1189	914.737.7700				
FAX	609.965.6403	609.561.6294	973.633.0730	914.737.7730				
E-MAIL	gcaccent@aol.com	GFONDACARO@NINSALLA.COM	absolutefence@optonline.net	admin@carjenfence.com				
ADDENDUM NUMBER ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED				
PUBLIC WORKS CONTRACTOR REGISTRATION	CERT#41444 5.2.2016	CERT#644108 EXPIRES 8.5.14	CERT#611380 EXPIRES 2.19.15	CERT#673433 EXPIRES 10.1.14				
INDEMNIFICATION INSURANCE REQUIRED FROM VENDOR		SIGNED, INSURANCE REQUIRED IF AWARDED	SIGNED, REQUIRED IF AWARDED	SIGNED, INDLUDED (NEED 30 CANCELLATION)				
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK				
STOCKHOLDER DISCLOSURE CERTIFICATION	OK	OK .	OK	OK				
EXECUTIVE ORDER 98-1	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED				
EXHIBIT B	REQUIRED IF AWARDED	OK	OK	NONE				
AA201	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED				
DEBARRED	NO							
IRAN CERTIFICATION	OK	OK	OK	OK				
SAFETY PROGRAM CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED				
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES				
3 REFERENCES FOR SIMILAR PROJECTS	INCLUDED	66 SAYS ATTACHED BUT I CAN'T FIND THE ATTACH	ATTACHED	ATTACHED				
NON-COLLUSION AFFIDAVIT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED				
CERTIFICATION OF AVAILABLE EQUIPMENT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED				
PREVAILING WAGE CERTIFICATION	OK	OK	OK	OK				
BIDDER' MANUFACTURER'S CERTIFICATION TO INSTALL	INCLUDED	INCLUDED	NO	MANUFACTURER OFFERS NO SUCH CERTIFICATION				
EXCEPTIONS	NONE	NONE	NONE	NONE				
FATAL FLAW	NO	NO	NO	NO				
FENCING SYSTEM	MERCHANTS METALS	ELITE FENCE PRODUCTS INC.	ORNAMENTAL FENCING SYSTEM	AMERISTAR				
COST PER LINERAR FOOT		119.0 59,741.00	139.9 69,985.0	259. 129,875.00				

BID RESULTS

AB2014-29 ON-CALL SERVICES FOR INSTALLATION, REPLACEMENT AND REPAIR OF GUIDERAIL AT VARIOUS LOCATIONS THROUGHOUT MERCER COUNTY

July	29, 2014					
AWARD ONE YEAR WITH OPTION TO EXTEND UP TO TWO YEARS; WORK MUST BE COMPLETED WITHIN NO MORE THAN TEN (10) CALENDAR DAYS						
NO. OF RESPONDENTS:	1					
NAME OF BIDDER	J.FLETCHER CREAMER & SON, INC.					
NAME	ROBERT M. SCHEETZ					
ADDRESS	101 E. BROADWAY					
CITY, STATE, ZIP	HACKENSACK, NJ 07601					
CONTACT	ROBERT M. SCHEETZ					
TELEPHONE	201.488.9800					
FAX	201.488.0587					
E-MAIL	BSCHEETZ@JFCSON.COM					
INDEMNIFICATION SIGNED INSURANCE REQUIRED FROM AWARDED VENDOR	SIGNED, INSURANCE CERT REQUIRED					
PERFORMANCE AND LABOR AND MATERIAL PAYMENT BOND REQUIRED	IF AWARDED					
BID GUARANTEE	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K					
CONSENT OF SURETY	KRYSTAL L. STRAVATO ATTORNEY IN FACT WITH POA					
THREE REFERENCES	INCLUDED, GEORGE TO REVIEW					
PW CONTRACTOR REGISTRATION	CERT #63819 EXPIRATION DATE 5.15.16					
NJ DOT PREQUALIFICATION; CONTRACTOR CLASS CODE 5 OR 15	YES, CODE 5					
NEW JERSEY BUSINESS REGISTRATION	OK					
STOCKHOLDER DISCLOSURE	OK					
CERTIFICATION OF AVAILABLE EQUPMENT	ATTACHED					
SAFETY PLAN COMPLIANCE CERTIFICATION	SIGNED AND DATED					
NON-COLLUSION AFFIDAVIT	SIGNED AND DATED					
EXECUTIVE ORDER 98-1	SIGNED AND DATED					
ЕХНІВІТ В	OK					
AA201	REQUIRED IF AWARDED					
IRAN CERT	SIGNED AND DATED					
Prevailing wage cert	SIGNED AND DATED					
SAFETY CERT	SIGNED AND DATED					
TRAFFIC CONTROL	NO					
HOLD PRICING BEYOND 60 DAYS	YES					
FATAL FLAW	NO					
exceptions	NONE NOTED					
YEAR ONE	\$ 2,147,000.00					
YEAR TWO	\$ 2,200,000.00					
YEAR THREE	\$ 2,240,000.00					
GRAND TOTAL	\$ 6,587,000.00					

AB2014-29 GUIDERAIL INSTALLATION PROPOSAL PAGE YEAR ONE

Item Number	Pay Item	Estimated Quantity	Unit	ι	Unit Price		Unit Price		Subtotal
	COSTS YEAR ONE				J. FLE	ETCHER			
1	NON-VEGETATIVE SURFACE, HOT MIX ASPHALT	5,000	SY	\$	47.00	\$	235,000.00		
2	BEAM GUIDE RAIL	10,000	LF	\$	23.00	\$	230,000.00		
3	Modified Thrie Beam Guide Rail	1,000	LF	\$	57.00	\$	57,000.00		
4	Beam Guide Rail, Bridge	1,000	LF	\$	134.00	\$	134,000.00		
5	thrie beam Guide Rail, Bridge	2,500	LF	\$	139.00	\$	347,500.00		
6	RUB RAIL	2,500	LF	\$	7.00	\$	17,500.00		
7	FLARED Guide Rail Terminal	20	UNIT	\$	2,200.00	\$	44,000.00		
8	TANGENT Guide Rail Terminal	20	UNIT	\$	2,600.00	\$	52,000.00		
9	TELESCOPING GUIDE RAIL END TERMINAL	10	UNIT	\$	4,900.00	\$	49,000.00		
10	CONTROLLED RELEASE TERMINAL	20	UNIT	\$	500.00	\$	10,000.00		
11	CONTROLLED RELEASE TERMINAL ANCHORAGE	20	UNIT	\$	1,100.00	\$	22,000.00		
12	BEAM GUIDE RAIL ANCHORAGE	100	UNIT	\$	700.00	\$	70,000.00		
13	BEAM GUIDE RAIL POST	500	UNIT	\$	65.00	\$	32,500.00		
14	BEAM GUIDE RAIL POST, EXTRA LONG	250	UNIT	\$	70.00	\$	17,500.00		
15	BEAM GUIDE RAIL ELEMENT	5,000	LF	\$	11.00	\$	55,000.00		
16	Modified Thrie Beam Guide Rail Element	500	LF	\$	57.00	\$	28,500.00		
17	Beam Guide Rail Blockout	500	UNIT	\$	25.00	\$	12,500.00		
18	RESET BEAM GUIDE RAIL WITH EXISTING POSTS	1,000	LF	\$	4.00	\$	4,000.00		
19	RESET BEAM GUIDE RAIL, DUAL-FACED, WITH EXISTING POSTS	500	LF	\$	4.00	\$	2,000.00		
20	RESET Modified Thrie BEAM GUIDE RAIL WITH EXISTING POSTS	100	LF	\$	9.00	\$	900.00		
21	RESET Modified Thrie BEAM GUIDE RAIL, DUAL-FACED, WITH EXISTING POSTS	100	LF	\$	10.00	\$	1,000.00		
22	REMOVAL OF Beam GUIDE RAIL	10,000	LF	\$	2.00	\$	20,000.00		
23	bURIED Guide rail terminal	20	UNIT	\$	500.00	\$	10,000.00		
24	TRAFFIC CONTROL – SHOULDER CLOSURE	50	UNIT	\$	3,325.00	\$	166,250.00		
25	TRAFFIC CONTROL – LANE CLOSURE ON A MULTI-LANE ROAD	50	UNIT	\$	3,331.00	\$	166,550.00		
26	TRAFFIC CONTROL – LANE CLOSURE ON A TWO-LANE ROAD	50	UNIT	\$	3,331.00	\$	166,550.00		
27	TRAFFIC CONTROL – LANE CLOSURE WITH ALTERNATING TRAFFIC	25	UNIT	\$	4,505.00	\$	112,625.00		
28	TRAFFIC CONTROL – ROAD CLOSURE	25	UNIT	\$	3,325.00	\$	83,125.00		
	TOTAL YEAR ONE					\$	2,147,000.00		

AB2014-29 GUIDERAIL INSTALLATION PROPOSAL PAGE YEAR TWO

Item Number	Pay Item	Estimated Quantity	Unit	Unit Price		Subtotal	
	COSTS YEAR TWO			J. FLET	ETCHER		
1	NON-VEGETATIVE SURFACE, HOT MIX ASPHALT	5,000	SY	\$ 48.00	\$	240,000.00	
2	BEAM GUIDE RAIL	10,000	LF	\$ 24.00	\$	240,000.00	
3	Modified Thrie Beam Guide Rail	1,000	LF	\$ 59.00	\$	59,000.00	
4	Beam Guide Rail, Bridge	1,000	LF	\$ 137.00	\$	137,000.00	
5	thrie beam Guide Rail, Bridge	2,500	LF	\$ 142.00	\$	355,000.00	
6	RUB RAIL	2,500	LF	\$ 8.00	\$	20,000.00	
7	FLARED Guide Rail Terminal	20	UNIT	\$ 2,250.00	\$	45,000.00	
8	TANGENT Guide Rail Terminal	20	UNIT	\$ 2,665.00	\$	53,300.00	
9	TELESCOPING GUIDE RAIL END TERMINAL	10	UNIT	\$ 5,000.00	\$	50,000.00	
10	CONTROLLED RELEASE TERMINAL	20	UNIT	\$ 500.00	\$	10,000.00	
11	CONTROLLED RELEASE TERMINAL ANCHORAGE	20	UNIT	\$ 1,100.00	\$	22,000.00	
12	BEAM GUIDE RAIL ANCHORAGE	100	UNIT	\$ 750.00	\$	75,000.00	
13	BEAM GUIDE RAIL POST	500	UNIT	\$ 65.00	\$	32,500.00	
14	BEAM GUIDE RAIL POST, EXTRA LONG	250	UNIT	\$ 70.00	\$	17,500.00	
15	BEAM GUIDE RAIL ELEMENT	5,000	LF	\$ 11.00	\$	55,000.00	
16	Modified Thrie Beam Guide Rail Element	500	LF	\$ 59.00	\$	29,500.00	
17	Beam Guide Rail Blockout	500	UNIT	\$ 25.00	\$	12,500.00	
18	RESET BEAM GUIDE RAIL WITH EXISTING POSTS	1,000	LF	\$ 4.00	\$	4,000.00	
19	RESET BEAM GUIDE RAIL, DUAL-FACED, WITH EXISTING POSTS	500	LF	\$ 5.00	\$	2,500.00	
20	RESET Modified Thrie BEAM GUIDE RAIL WITH EXISTING POSTS	100	LF	\$ 10.00	\$	1,000.00	
21	RESET Modified Thrie BEAM GUIDE RAIL, DUAL-FACED, WITH EXISTING POSTS	100	LF	\$ 10.00	\$	1,000.00	
22	REMOVAL OF Beam GUIDE RAIL	10,000	LF	\$ 2.00	\$	20,000.00	
23	bURIED Guide rail terminal	20	UNIT	\$ 500.00	\$	10,000.00	
24	TRAFFIC CONTROL – SHOULDER CLOSURE	50	UNIT	\$ 3,400.00	\$	170,000.00	
25	TRAFFIC CONTROL – LANE CLOSURE ON A MULTI-LANE ROAD	50	UNIT	\$ 3,400.00	\$	170,000.00	
26	TRAFFIC CONTROL – LANE CLOSURE ON A TWO-LANE ROAD	50	UNIT	\$ 3,400.00	\$	170,000.00	
27	TRAFFIC CONTROL – LANE CLOSURE WITH ALTERNATING TRAFFIC	25	UNIT	\$ 4,528.00	\$	113,200.00	
28	TRAFFIC CONTROL – ROAD CLOSURE	25	UNIT	\$ 3,400.00	\$	85,000.00	
	TOTAL YEAR TWO				\$	2,200,000.00	

AB2014-29 GUIDERAIL INSTALLATION PROPOSAL PAGE YEAR THREE

Item Number	Pay Item	Estimated Quantity	Unit	Unit Price		Subtotal	
	COSTS YEAR THREE			J. FLET	ETCHER		
1	NON-VEGETATIVE SURFACE, HOT MIX ASPHALT	5,000	SY	\$ 49.00	\$	245,000.00	
2	BEAM GUIDE RAIL	10,000	LF	\$ 24.00	\$	240,000.00	
3	Modified Thrie Beam Guide Rail	1,000	LF	\$ 60.00	\$	60,000.00	
4	Beam Guide Rail, Bridge	1,000	LF	\$ 140.00	\$	140,000.00	
5	thrie beam Guide Rail, Bridge	2,500	LF	\$ 145.00	\$	362,500.00	
6	RUB RAIL	2,500	LF	\$ 8.00	\$	20,000.00	
7	FLARED Guide Rail Terminal	20	UNIT	\$ 2,300.00	\$	46,000.00	
8	TANGENT Guide Rail Terminal	20	UNIT	\$ 2,700.00	\$	54,000.00	
9	TELESCOPING GUIDE RAIL END TERMINAL	10	UNIT	\$ 5,200.00	\$	52,000.00	
10	CONTROLLED RELEASE TERMINAL	20	UNIT	\$ 535.00	\$	10,700.00	
11	CONTROLLED RELEASE TERMINAL ANCHORAGE	20	UNIT	\$ 1,100.00	\$	22,000.00	
12	BEAM GUIDE RAIL ANCHORAGE	100	UNIT	\$ 770.00	\$	77,000.00	
13	BEAM GUIDE RAIL POST	500	UNIT	\$ 65.00	\$	32,500.00	
14	BEAM GUIDE RAIL POST, EXTRA LONG	250	UNIT	\$ 70.00	\$	17,500.00	
15	BEAM GUIDE RAIL ELEMENT	5,000	LF	\$ 12.00	\$	60,000.00	
16	Modified Thrie Beam Guide Rail Element	500	LF	\$ 60.00	\$	30,000.00	
17	Beam Guide Rail Blockout	500	UNIT	\$ 25.00	\$	12,500.00	
18	RESET BEAM GUIDE RAIL WITH EXISTING POSTS	1,000	LF	\$ 4.00	\$	4,000.00	
19	RESET BEAM GUIDE RAIL, DUAL-FACED, WITH EXISTING POSTS	500	LF	\$ 5.00	\$	2,500.00	
20	RESET Modified Thrie BEAM GUIDE RAIL WITH EXISTING POSTS	100	LF	\$ 10.00	\$	1,000.00	
21	RESET Modified Thrie BEAM GUIDE RAIL, DUAL-FACED, WITH EXISTING POSTS	100	LF	\$ 10.00	\$	1,000.00	
22	REMOVAL OF Beam GUIDE RAIL	10,000	LF	\$ 2.00	\$	20,000.00	
23	bURIED Guide rail terminal	20	UNIT	\$ 500.00	\$	10,000.00	
24	TRAFFIC CONTROL – SHOULDER CLOSURE	50	UNIT	\$ 3,271.00	\$	163,550.00	
25	TRAFFIC CONTROL – LANE CLOSURE ON A MULTI-LANE ROAD	50	UNIT	\$ 3,500.00	\$	175,000.00	
26	TRAFFIC CONTROL – LANE CLOSURE ON A TWO-LANE ROAD	50	UNIT	\$ 3,500.00	\$	175,000.00	
27	TRAFFIC CONTROL – LANE CLOSURE WITH ALTERNATING TRAFFIC	25	UNIT	\$ 4,750.00	\$	118,750.00	
28	TRAFFIC CONTROL – ROAD CLOSURE	25	UNIT	\$ 3,500.00	\$	87,500.00	
	TOTAL YEAR THREE				\$	2,240,000.00	